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30000000 k:= 30000
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3x 3=9000

mapping : set of seqg of natl :=
gooooooooobooboooo

dunion { { [i,3j] | j in set {1,...,k}} | i in set {1,...,k}};
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public allRelation : natl ==> set of seq of set of natl

allRelation(k) ==
( ~—<0ooooooookooooo)

dcl rlst : set of seq of set of natl := {};
dcl 1st : seq of set of natl;

dcl mapping : set of seq of natl := dunion { {
[i,31 | § in set {1,..., k}} | 1 in set {1,..., k}};
for all m in set power mapping do
(st := [ { } | i in set {1,..., k} & i>01;
for all a in set m do
lst(a(l)) := lst(a(l)) union {a(2)};
rlst := rlst union {lst});

return rlst

)i
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-- O0x0y(Q(x,y) => Qly,x))
public P22 : () ==> bool
P22 () == return forall x in set elems model &
(exists y in set elems model & (x.Q(y) => y.Q(x)) );

public alltest22 : natl ==> seq of bool
alltest22(k) ==
(
dcl ans : seq of bool := [];
setM(k) ;
for all 1st in set allRelation(k) do
(setRelation(1lst) ;
ans := ans ~ [P22()];
)i
return ans;

)i

[4EIDEIDEIDEIDDD4X4=16DDDDDDDDDDDDDD}

>> create ml:= new QxyTest ()

. gopoooooooong
>> print ml.alltest22(2) Ooooooooo
[ true,true,true, .., true ]
go0oo0O0O0OtueD0OOO
gooos3gooos3onon
gooopoooooo

>> print ml.alltest22(3)
[ true,true,true, .., true ]

>> print ml.alltest22(4)
Cc:/../vbM/00000 .vpp, 1. 38, c. 25:
Run-Time Error 79: Set too big for 'power!'

[ - limit is 16
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